
MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

Add.
1) 5635 + 812 + 9 1)

A) 6456 B) 6441 C) 6466 D) 6556

2) 55,142 + 72 + 2763 + 53,625 2)
A) 121,602 B) 112,602 C) 111,502 D) 111,602

Subtract.
3) 8398 - 1406 3)

A) 6952 B) 6992 C) 7492 D) 7082

4) 24,100 - 6912 4)
A) 17,488 B) 25,008 C) 17,188 D) 21,188

Multiply.
5)

4109
× 2747

5)

A) 11,286,423 B) 11,287,423 C) 11,287,523 D) 11,297,423

Divide.
6) 31 14,694 6)

A) 464 B) 484 R 10 C) 474 D) 479 R 2

7) 8118 ÷ 33 7)
A) 247 B) 246 R 24 C) 246 D) 247 R 23

Find all the factors of the number.
8) 42 8)

A) 7, 6, 14, 42 B) 1, 7, 6, 42
C) 1, 2, 3, 6, 7, 14, 21, 42 D) 1, 2, 3, 6, 7, 14, 28, 42

Find the prime factorization of the number.
9) 63 9)

A) 3 · 3 · 7 B) 9 · 3 C) 7 · 7 D) 9 · 7

Simplify.
10) 23 + 29 · 25 10)

A) 748 B) 1300 C) 692 D) 77

11) 12 · 12 - (10 - 7) ÷ 3 - (7 - 6) 11)
A) 142 B) 40 C) 46 D) 130
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12) 2 × (300 - 40 ÷ 5) - [3 · 23 - (8 - 2 · 3)] 12)
A) 467 B) 517 C) 983 D) 2293

Solve the problem.
13) 245 chocolates are to be packed into boxes, each of which will contain 9 chocolates. How many

boxes of chocolates will there be? How many chocolates will be left over?
13)

A) 27 boxes; no chocolates left over B) 27 boxes; 2 chocolates left over
C) 26 boxes; 3 chocolates left over D) 26 boxes; 2 chocolates left over

Convert to fraction notation.

14) 7 2
5 14)

A) 37
5 B) 35

5 C) 35
2 D) 37

2

Convert to a mixed numeral.

15) 12
5 15)

A) 2 2
7 B) 2 2

5 C) 3 2
5 D) 1 2

5

Reduce the fraction.

16) 28
36 16)

A) 28
36 B) 4

9 C) 7
4 D) 7

9

Write the fraction as an equivalent fraction with the indicated denominator.

17) 8
14

=
?
70 17)

A) 40
70 B) 112

70 C) 8
70 D) 560

980

Compare the fractions.

18) 14
15

, 4
5

, 2
3 18)

A) 2
3

<
4
5

<
14
15 B) 14

15
<

4
5

<
2
3 C) 2

3
<

14
15

<
4
5 D) 4

5
<

2
3

<
14
15

Add.  Simplify, if possible.

19) 1
8

+
1
4

+
1
2 19)

A) 3
14 B) 1

2 C) 7
8 D) 13

16
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20) 3 1
6

+ 3 3
16

+ 1 1
8 20)

A) 8 23
48 B) 7 23

48 C) 7 21
16 D) 7 1

6

Subtract.  Simplify, if possible.

21) 11 1
5

- 5 4
5 21)

A) 15 2
5 B) 16 2

5 C) 5 2
5 D) 5 1

5

22) 16 1
8

- 7 1
2 22)

A) 9 5
8 B) 9 3

8 C) 8 5
8 D) 8 1

2

Multiply.  Simplify if possible.

23) 4
7

·
2
3

·
4
5 23)

A) 24
35 B) 8

105 C) 32
15 D) 32

105

24) 5 · 3 1
5

·
2
9 24)

A) 2 5
9 B) 3 5

9 C) 3 4
9 D) 5 3

9

Divide.  Simplify, if possible.

25) 3
4

÷ 7
8 25)

A) 7
6 B) 32

21 C) 6
7 D) 21

32

26) 5 1
4

÷ 4 2
5 26)

A) 1 17
87 B) 2 17

88 C) 1 18
88 D) 1 17

88

Solve the problem.

27) A piece of cable which is 4
5

 m long is to be cut into pieces 1
10

 m long. How many pieces will there

be?

27)

A) 40 B) 1
8 C) 8 D) 50

3



Write the decimal in word form.
28) 340.074 28)

A) three hundred forty and seventy-four tenths
B) three hundred forty and seventy-four hundredths
C) three hundred forty and seventy-four ten-thousandths
D) three hundred forty and seventy-four thousandths

Write the number in decimal notation.
29) One and four hundred sixteen ten-thousandths 29)

A) 0.10416 B) 1.416 C) 1.0416 D) 1.00416

Write the decimal as a fraction or mixed number. Simplify, if possible.
30) 0.04 30)

A) 1
16 B) 1

25 C) 1
250 D) 1

4

Add.
31) 362.8 + 0.14 + 49.06 + 50 + 1.8 31)

A) 463.81 B) 463.9 C) 464.8 D) 463.8

Solve the problem.
32) Add thirteen and four tenths and fifty-four hundredths. 32)

A) 18.8 B) 17.54 C) 13.58 D) 13.94

Subtract.
33) 19.1 - 5.62 33)

A) 13.48 B) 25.72 C) 13.58 D) 24.72

Solve the problem.
34) Seventeen and five tenths minus nine and thirty-four hundredths 34)

A) 5.1 B) 26.84 C) 8.16 D) 8.016

Multiply.
35)

0.207
× 3.4

35)

A) 3 B) 0.7038 C) 0 D) 3.607

36) ($3.32)(29) 36)
A) $96.38 B) $96.28 C) $96.29 D) $97.38

Divide.
37) 0.07 3.85 37)

A) 55 B) 44 C) 5.5 D) 56
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Divide and round as indicated.

38) 5.75
0.66

;  Round to the nearest tenth. 38)

A) 0.1 B) 9.2 C) 87.1 D) 8.7

Write the ratio as a ratio of whole numbers using fractional notation. Write the fraction in simplest form.

39) 5 1
4

 tons to 5 1
3

 tons 39)

A) 16
3 B) 21

4 C) 4
3 D) 63

64

Find the ratio described as a fraction in simplest form.
40) Find the ratio of the width to the perimeter of the rectangular garden sketched below.

width = 10 yards

length = 25 yards

40)

A) 1
7 B) 2

7 C) 5
14 D) 2

5

For the proportion, find the unknown number n.

41) 14
42

=
5
n 41)

A) 42 B) 15 C) 3 D) 70

Solve.
42) The ratio of a quarterback's completed passes to attempted passes is 7 to 9. If he attempted

36 passes, find how many passes he completed. Round to the nearest whole number if necessary.
42)

A) 9 passes B) 46 passes C) 28 passes D) 4 passes

43) The scale on a map states that 1 centimeter corresponds to 40 kilometers. On the map, two cities are
1.3 cm apart. Find the actual distance.

43)

A) 520 km B) 5.2 km C) 52 km D) 5200 km

Convert the decimal to a percent.
44) 0.03 44)

A) 0.3% B) 30% C) 0.0003% D) 3%

45) 0.7 45)
A) 70% B) 0.7% C) 700% D) 0.07%

Convert the fraction to a percent.

46) 3
16 46)

A) 18.75% B) 0.01875% C) 0.1875% D) 1.875%
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Write the percent problem as an equation and solve.
47) What is 31% of 1500? 47)

A) 465 B) 46,500 C) 4650 D) 46.5

48) 63 is 20% of what number? 48)
A) 315 B) 12.6 C) 31.5 D) 3150

49) 61 is 122% of what number? 49)
A) 148.84 B) 50 C) 500 D) 14,884

50) What percent of 1400 is 56? 50)
A) 5% B) 26% C) 4% D) 25%

Convert. When necessary, round the answer to two decimal places.
51) 72 feet to yards 51)

A) 2592 B) 24 C) 8 D) 216

Perform the conversion.
52) 0.93 meters = ___ centimeters 52)

A) 0.0093 B) 930 C) 0.00093 D) 93

53) 0.66 meters = ___ kilometers 53)
A) 66 B) 660 C) 0.00066 D) 0.0066

Perform the conversion.  Round to the nearest hundredth when necessary.
54) 5 km to mi 54)

A) 8.05 mi B) 5.3 mi C) 4.73 mi D) 3.11 mi

Perform the conversion.  Round to the nearest tenth when necessary.
55) 42 mi/hr to km/hr 55)

A) 67.6 km/hr B) 39.7 km/hr C) 44.5 km/hr D) 26.1 km/hr

Add. Do not use a number line except as a check.
56) 2 + (-7) 56)

A) 5 B) 9 C) -5 D) -9

57) -8 + (-69) 57)
A) 61 B) -61 C) 77 D) -77
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Subtract.
58) 2 - (-25) 58)

A) -23 B) -27 C) 23 D) 27

Perform the indicated operation.
59) -15 + 14 - 20 - (-10) 59)

A) -11 B) -31 C) -19 D) 9

Find the product.
60) (5)(-4)(-4) 60)

A) 80 B) -80 C) 90 D) -40

61) (-9)(-5)(-5) 61)
A) 225 B) -125 C) -235 D) -225

Perform the indicated operation.

62) -76
4 62)

A) 19 B) -
1
19 C) -19 D) -29

63) 96
-4(3) 63)

A) 24 B) 8 C) -8 D) -24

Write the expression as products.
64) -53 64)

A) -5 × -5 × -5 B) -(5 × 5 × 5) C) -125 D) -15

Evaluate the expression.
65) - 324 65)

A) 18 B) - 162
C) - 18 D) Not a real number

66) (-6)3(2)2 66)
A) -864 B) 72 C) -72 D) 864

Simplify. Combine like terms if possible.
67) -6n2 - (-2n2) 67)

A) -4n2 B) -4n4 C) 4n2 D) -8n2

Simplify by combining pairs of like terms.
68) -27a + 19a - 9 - 10 68)

A) 8a + 1 B) -46a - 19 C) -8a - 19 D) -8a + 1

Solve.
69) 0.7x - 2.2 = + 3.47 69)

A) -0.123 B) 8 C) 7.29 D) 8.1
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70) 12x + 18 = 3x - 54 70)
A) -6 B) 8 C) -8 D) 6

Solve the equation.

71) 1
8

x - 6 = -3 71)

A) x = -26 B) x = 24 C) x = 26 D) x = -24

Find the area of the triangle.
72)

5 mm

11.5 mm

72)

A) A = 28.75 mm2 B) A = 57.5 mm2 C) A = 8.25 mm2 D) A = 115 mm2

Find the area of the trapezoid.
73)

4 ft

3 ft

8 ft

73)

A) A = 15 ft2 B) A = 36 ft2 C) A = 16 ft2 D) A = 18 ft2

Find the area of the circle with the given radius or diameter. Use  3.14.
74) d = 7 ft

Round your answer to the nearest tenth.
74)

A) A 22 ft2 B) A 38.5 ft2 C) A 153.9 ft2 D) A 44 ft2

Find the area of the shaded region. Use  3.14 and round to the nearest tenth.
75)

15 km
30 km

30 km

75)

A) A 2826 km2 B) A 193.5 km2 C) A 1606.5 km2 D) A 706.5 km2
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Find the volume. Use  3.14. Round to the nearest tenth when necessary.
76) A cylinder with radius 2.5 in. and height 18 in. Find the volume in cubic inches. 76)

A) 141.3 in.3 B) 282.6 in.3 C) 353.3 in.3 D) 1413 in.3

Find the volume of the sphere. Use 3.14 or 22
7

 for  as indicated.

77) Use 3.14 for .

r = 4.5 ft

77)

A) 3052.08 ft3 B) 84.78 ft3 C) 381.51 ft3 D) 214.599 ft3

Find the volume of the circular cone. Use 3.14 or 22
7

 for  as indicated and round as indicated.

78) Use 3.14 for . Round to the nearest whole number.

3 cm

diameter = 6 cm

78)

A) 28 cm3 B) 170 cm3 C) 38 cm3 D) 113 cm3
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